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1. WS- 900 900 0
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1. 05 H| 3,795 3,795 0
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6.4 LT 9,800 9,800 0
1. 07 6,462 6,462 0
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2. 13F TG 3,500 3,500 0

2 ASZR B 2,738 2,738 0

1. WS- 2,738 2,738 0

3.7 5024 600 600 0

1. 28 5] 600 600 0
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1. WS-8 4,000 4,000 0

3. (FA) et o S A A 5,000 5,000 0

1. dukgn) 300 300 0

2. 2589 u| 4,700 4,700 0
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1.9 6,725 6,725 0
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1. o) B2 wASl A ] 48,847 48,847 0
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1.9 1,960 1,960
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3.5 H| 3,650 3,650
4. DRk Fxm] 114 114
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1. 712 A 2 A1 7 1) 1,551 1,551 0

2. A4 A fA 201,459| 201,459 0
1.3 A ] 57 201,459| 201,459 0
1. T T ZAAM T = 87,424 87,424 0

1. Qw581 1,000 1,000 0

2. 47187 63,444| 63,444 0

3. A8 FER 15,000 15,000 0

kg1 202413 029 299 164 52% 123
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4.71EtEF 8+ 7,980 7,980 0
289 12,845 12,845 0
1.4 RkG=8-] 12,845 12,845 0
kg 50,736 50,736 0
2. k8] 50,736 50,736 0
e 19,670 19,670 0
1. 710 A 22 A1 1A 1) 16,000 16,000 0
2. dukEEH| 2,000 2,000 0
3. B E P HA] 330 330 0
RIS 400 400 0
5. 71HAIZEAE B N 940 940 0
g 20,084 20,084 0
1.1 A 22 A9 7 1) 14,935 14,935 0
2. dukEEH| 3,924 3,924 0
3. B E P HA 325 325 0
4.7 A AR 900 900 0
A 17 RHE e 10,700 10,700 0
1. G981 5,700 5,700 0
2. H3F TG 5,000 5,000 0
4,084 4,084 0

3 1,050 1,050 0
I35 1,050 1,050 0
1.90H] 250 250 0
AL RS 800 800 0
3,034 3,034 0

Hugg 1,034 1,034 0
1.&9+9 300 300 0
2. 0 5$d | 500 500 0

kg1 202413 029 299 164 52% 123
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